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dat1 := TableA9c, 2 ‡
0

0.5

HLog@Æ, RDL ÅR=, 8c, 0, 20<E

dat2 := Table@8d, −1.693<, 8d, 0, 20<D
g3 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g4 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g3, g4<, PlotRange → 880, 20<, 8−1.69, −1.7<<D
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dat1 := Table@8e, 0<, 8e, 0, 20<D
dat2 := Table@8f, −π<, 8f, 0, 20<D
g5 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g6 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g5, g6<, PlotRange → AllD
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dat1 := Table@8g, 0<, 8g, 0, 20<D
dat2 := Table@8h, π<, 8h, 0, 20<D
g7 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g8 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g7, g8<, PlotRange → AllD
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dat1 := Table@8i, 4<, 8i, 0, 20<D
dat2 := Table@8j, 4<, 8j, 0, 20<D
g9 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g10 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g9, g10<, PlotRange → AllD
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dat2 := Table@8b, 0.039<, 8b, 0, 20<D
g1 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g2 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g1, g2<, PlotRange → AllD
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g1 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g2 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g1, g2<, PlotRange → AllD
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dat2 := Table@8b, 0.927295<, 8b, 0, 20<D
g1 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g2 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g1, g2<, PlotRange → AllD
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g1 := ListPlot@dat1, PlotJoined → True, PlotStyle → 8RGBColor@0, 0, 1D<D
g2 := ListPlot@dat2, PlotJoined → True, PlotStyle → 8RGBColor@1, 0, 0D<D
Show@8g1, g2<, PlotRange → AllD
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